TB2020 — data analysis

Veta Ghenescu”

*Institute of Space Science




Run number | Energy beam Comments
[GeV]

74 5 tilted

182 5 energy scan
190 4 energy scan
194 3 energy scan
207 6 energy scan

Signal selection:

* 1<74<3

* S,.. <2000 ADC

* Cipin= 27 <Cofe<typin-0,3
. NNoutput > 0,98



90000

ts

h

80000

70000

60000

50000

40000

30000

20000

10000

(=]

- signal in pads
— low gain
- — run182 - 5GeV
— —— run190 - 4GeV
= ——— run194 - 3GeV
— —— run207 - 6GeV
- [ R R | — R IR N ! P R
0 10 20 30 40 50 60
pad number
x10°
o) — . -
- signal in pads
160 ; :l:l: high gain
L —— run182 - 5Gev
[ —— run190 - 4GeV
140 — ——— run194 - 3GeV
L J_L —— run207 - 6GeV
120 —
100 — - L
80 —
60—
- Strange
a0 peak near
- pad 12
20 —
0 7 s @ | I 3; i 1 |
0 30 60 70

pad number



b4

—

o
[*]

90

80

70

60

50

40

30

20

10

runig2

— low gain

'
=ITTTT

0

3 4 5 6 7

Strange signal deposition:

- to high in 18t plane for low gain

8

layer

- to small in 2"d and 4t planes for high gain

X

-y

=
[

350

300

250

200

150

100

50

DIIII

runig2

— high gain

-1

0

1 2 3 4 5 6 7 8

layer




w
I
7]
>

S

=

he]
O

=
w
o
a
5]

o

‘©
=

=
»

©

—
o

|_

100
| Low gain signal in layer
L run207 - 6GeV
run182 - 5GeV
B runi90 - 4GeV
80— run194 - 3GeV
60—
B I
40—
20—
01 1\\\I‘\\I\| ‘\\II‘ I\I‘I\I\|\\\I
-1 0 1 4 6 7 8 9
layer
x10°
$ I i lin layer
] 7 . . signal i
High gain
I 300 - ghga  fun207 - 6GeV
__g — —— run182 - 5GeV
2 — —— run190 - 4GeV
& 2501 — —— run194 - 3GeV
% [
g _
s L
D 200—
W -
(__,E [
= _
- — ]
150 — 1
100 4,—,7
50
0 7' | | ‘ | | | | | | | | | | | | | | ‘ | ‘ | | | | L | L

—



run182_Occupancy plot for layer 0_high gain , run182_Occupancy plot for layer 1_high gain
%10

T [ 3
d o h S g0 h
= Entries 151189 C Entries 104588
C Mean x 2.467 r Mean x 2.5
50— Mean y 42.86 50— Mean y 42.63
L RMS x 0.4989 C RMS x 0.5
- RMS y 5.158 I RMSy  5.164
40— a0
30— 30—
20— 20—
10— 10—
007‘ —t ‘0.‘5' ! ‘: —— '1!5' — '2 I I 4 0:| PR T T N N T B B
sector 0 05 1 15
run182_Occupancy plot for layer 0_low gain run182_Occupancy plot for layer 1_low gain
5107
° =
g 60— __h g 60| — h
n Entries 72466 C Entries 56326
E Mean x 2.46 3000 - Meanx  2.524
50— Meany  43.12 50— Mean y 42.91
C RMS x  0.4984 2500 C RMS x  0.4994
E RMS y 3.966 L RMS y 3.52
40— 40—
C 2000 C
a0 =
= 1500 30—
201 1000 20—
10 :— 500 10 }
00 05 1 15 0 0_|||\|||||||\||||\||\||\||||\|'
0 0.5 1 1.5 25 3 3.5 4




run182_Occupancy plot for layer 2_high gain run182_0Occupancy plot for layer 3_high gain

pad

Entries
Mean x
Mean y
RMS x
RMS y

run182_Occupancy plot for layer 2_low gain

161248

2.766
42.01
0.4234
5.488

60—
L Entries 61174
C Mean x 2.813

50— Mean y 42.67
L RMS x 0.3898
N RMS y 3.587

40_—

30—

20—

10—
Oilll\‘IIII|IIII‘IIII|IIII‘IIII
0 05 1.5

310°

1000C

8000

- 6000

4000

2000

x10

pad

x10°

l‘]uo{]

8000
| —leo00

4000

2000

sector

B C
2 60— h
L Entries 152720
r Mean x 2.478
50— Mean y 42,15
C RMS x 0.4995
B RMSy  5.465
40—
30
20
10—
07I 11 | ‘ 111 1 | ] T ‘ ] T
0 0.5 15
run182_QOccupancy plot for layer 3_low gain
C h
60—
C Entries 69870
L Mean x 2.498
50l Mean y 42.63
- BRMS x 0.5
C RMSy  3.038
40—
30—
20—
10—
Oilll\‘Illllllll‘llllmllll‘\III
0 0.5 15 2

sector




run182_Occupancy plot for layer 5_high gain
%108 10

run182_Occupancy plot for layer 4_high gain

o T F 1000
& g0l h S go— h
* Entles 323999 F Entries 256145
E Meanx  2.576 C Meanx 253
50— Meany  41.64 50— Meany  42.69 8000
= RMS x  0.4942 r RMSx  0.4991
= RMSy  6.246 - RMSy  5.024
C 40—
4o r 5000
30— 30—
C r 4000
20— 20—
r C 2000
10— 10—
E I A B R B B A B B B B | 0_ T R A S 0
0 05 15 0 0.5 1.5
sector
run182_0Occupancy plot for layer 4_low gain run182_Occupancy plot for layer 5_low gain
= =
g 60— h 4000 g 60— h
r Entries 82655 C Entries 69299
L Mean x 2.628 3500 - Mean x 2.55
50— Mean y 42.29 50— Mean y 42.92
F RMSx  0.4833 - RMSx  0.4975
r RMSy  3.157 3000 C RMSy  3.435
40[— 40[—
r 2500 r
30— 2000 30—
C 1500 C
20 — 20 —
C 1000 C
10— 10—
07IIII‘II\\llll\‘lll\‘ll\\lll\\ 07IIII‘II\\lIII\‘III\‘II\\'II\\'II\I'I\\I
0 5 15 2 25 35 4 0 5 15 2.
sector sector




runi182_Occupancy plot for layer 6_high gain run182_QOccupancy plot for layer 7_high gain

3 F g oF
2 60— h o gol— h
C Entries 219595 C Entries 162328
= Mean x 2.548 - Mean x 2.518
50— Meany  41.57 50— Meany  41.62
C RMSx  0.4977 C RMSx  0.4997
L RMS y 5.335 C RMS y 5,708
40— 4o
30— 30—
20— 20
10 10—
0 _\ 111 ‘ | | 1111 | | I | 0_ 1111 | | N | | L1 11 | L1 11
0 0.5 1 1.5 2 0 0.5 1 15
sector
run182_0Occupancy plot for layer 6_low gain run182_Occupancy plot for layer 7_low gain
x10°
o g F
8 g0l h S gol— __h
B Enfies 42079 r Entries 21209
- Meanx  2.589 - mea“ X 2.562
; Mean 41.79 — r ean y 41.7
or RMS : 0.4919 1200 o RMSx  0.4962
C - C RMS y 4,379
- RMSy 3.725 - .
- —1{1000 B
40— 40 —
- | —f800 -
30— 30—
C —l600 C
P 20—
10f— 10—
[~ I [~
07\||||\|||\|||\||||\ D_|\||||\|||\||||\|||‘ T ——
0 0.5 1 15 2 25 3 35 4 0 05 1 15 2 25 3

sector sector




&
60

pad

Occupancy plot for layer 0

__ h
- Entries 54013 I3°°°
- Mean x 2.67
C Mean y 10.55
S0 RMSx  0.4701 2500
- RMS y 6.393
40— 2000
30— 1500
20— 1000
10 :— 500
0 _ 111 | 111 1 | 111 | 111 0
0 05 1 15
sactor
Occupancy plot for layer 0_low gain
x10°
60— h
C Entries 11776 600
C Mean x 2,721
50— Mean y 9.729
: BMS x 0.4485 500
- RMSy  4.458
40 400
80~ 300
20— 200
10 :— 100
0 Lo b o v b b a g 0
0 0.5 1 15 4

pad

pad

Occupancy plot for layer 1
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Occupancy plot for layer 2 Occupancy plot for layer 3
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Occupancy plot for layer 5
Occupancy plot for layer 4
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= The parameters of the fit (t,, tau, nn) with RC-CR response function
should be optimized for signal analysis;




